Combined Higher Secondary Level Examination 2019 Tier |
||Ro|| Number

Candidate Name
Venue Name
Exam Date

Yuvi Online Solutions
13/10/2020

1:00 PM - 2:00 PM
CHSL Tier 1

Exam Time
Subject




Section : English Language (Basic Knowledge)

Q.1 Identify the segment in the given sentence which contains the grammatical error.

If India will win this match they will win the series.
Ans
x 1. the series
J 2. If India will win

x 3. they will win

x 4. this match

Question ID : 8161612649
Status : Answered
Chosen Option :2

Q.2 Select the option that will improve the underlined part of the sentence. In case no improvement is
needed, select ‘No improvement’.

As we’ve been neighbours, | have known Mrs. Shashi Singh since more than 16 years.

Ans
x 1. from more than 16 years

J 2. for more than 16 years
x 3. by more than 16 years

x 4. No improvement

Question ID : 8161612652
Status : Answered
Chosen Option :2

Q.3 Select the INCORRECTLY spelt word.

ans - X 1. Lacquer
Jz. Placque
&5 pogue
X 4. Boutique

Question ID : 8161612657
Status : Marked For Review
Chosen Option :2

Q.4 Select the word which means the same as the group of words given.

A collection of drawings, documents, etc. That represent a person's, especially an artist's, work




Ans

J 1. Portfolio
x 2. Dossier
x 3. Sketch
K 4. Profile

Question ID : 8161612659
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

Hampi is a UNESCO World Heritage Site in India located near Hospet town in the Karnataka state,
India. (1) the attractions of Hampi (2) beautiful temples, ruins of palaces (3) of
aquatic structures, ancient market streets, royal pavilions, bastions, royal platforms, treasury
buildings...the list is practically (4) . Most of the visitors to Hampi arrive at the well-connected
Hospet Junction railway station, (5) about 13km from Hampi. Roads to Hampi are in great
shape. Driving all the way to Hampi from the neighbouring cities is not a bad idea either.

SubQuestion No : 5

Q.5 Select the most appropriate option to fill in blank number 1.
Ans
x 1. Along
J 2. Among
x 3. Away
x 4. Aside
Question ID : 8161612641
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.
Hampi is a UNESCO World Heritage Site in India located near Hospet town in the Karnataka state,
India. (1) the attractions of Hampi (2) beautiful temples, ruins of palaces (3) of
aquatic structures, ancient market streets, royal pavilions, bastions, royal platforms, treasury
buildings...the list is practically (4) . Most of the visitors to Hampi arrive at the well-connected
Hospet Junction railway station, (5) about 13km from Hampi. Roads to Hampi are in great
shape. Driving all the way to Hampi from the neighbouring cities is not a bad idea either.
SubQuestion No : 6
Q.6 Select the most appropriate option to fill in blank number 2.
Ans x

1. were

J 2. are
x 3. was
x 4.is

Question ID : 8161612642
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

Hampi is a UNESCO World Heritage Site in India located near Hospet town in the Karnataka state,
India. (1) the attractions of Hampi (2) beautiful temples, ruins of palaces (3) of
aquatic structures, ancient market streets, royal pavilions, bastions, royal platforms, treasury
buildings...the list is practically (4) . Most of the visitors to Hampi arrive at the well-connected
Hospet Junction railway station, (5) about 13km from Hampi. Roads to Hampi are in great
shape. Driving all the way to Hampi from the neighbouring cities is not a bad idea either.

SubQuestion No : 7

Q.7 Select the most appropriate option to fill in blank number 3.
Ans
x 1. returns
x 2. refunds
x 3. revenues
« 4. remains
Question ID : 8161612643
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.
Hampi is a UNESCO World Heritage Site in India located near Hospet town in the Karnataka state,
India. (1) the attractions of Hampi (2) beautiful temples, ruins of palaces (3) of
aquatic structures, ancient market streets, royal pavilions, bastions, royal platforms, treasury
buildings...the list is practically (4) . Most of the visitors to Hampi arrive at the well-connected
Hospet Junction railway station, (5) about 13km from Hampi. Roads to Hampi are in great
shape. Driving all the way to Hampi from the neighbouring cities is not a bad idea either.
SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank number 4.
Ans

( 1. endless
x 2. written
x 3. finite

x 4. finished

Question ID : 8161612644
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

Hampi is a UNESCO World Heritage Site in India located near Hospet town in the Karnataka state,

India. (1) the attractions of Hampi (2) beautiful temples, ruins of palaces (3) of

aquatic structures, ancient market streets, royal pavilions, bastions, royal platforms, treasury

buildings...the list is practically (4) . Most of the visitors to Hampi arrive at the well-connected

Hospet Junction railway station, (5) about 13km from Hampi. Roads to Hampi are in great

shape. Driving all the way to Hampi from the neighbouring cities is not a bad idea either.

SubQuestion No : 9

Q.9 Select the most appropriate option to fill in blank number 5.

Ans K1 settied
V' located
X 5 fited
X, placed

Question ID : 8161612645
Status : Answered
Chosen Option : 2

Q.10 Select the word which means the same as the group of words given.
A group of ships sailing together
Ans 1. Cruisers

2. Fleet

3. Vessels

X X & X

4. Navy

Question ID : 8161612658
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate ANTONYM of the given word.

ALTRUISTIC
Ans J 1. Selfish
2. Serene

3. Outstanding

X X X

4. Soft-spoken

Question ID : 8161612637
Status : Answered
Chosen Option : 1




Q.12 Select the option that is the direct form of the given sentence.

Brinda told her doctor that she was leaving for Boston the next day.
Ans x 1. Brinda had told her doctor, “She was leaving for Boston the next day”.
x 2. Brinda told her doctor, “I was leaving for Boston tomorrow”.
x 3. Brinda told to her doctor, “I will be leaving for Boston the next day”.

’ 4. Brinda said to her doctor, “I am leaving for Boston tomorrow.”

Question ID : 8161612647
Status : Answered
Chosen Option : 4




Q.13 Given below are four jumbled sentences. Select the option that gives their correct order.
A. He put it down to dry and went to count his coins.

B. When he came back, it seemed like the teapot had moved.

C. Akito walked into an old curiosity shop and bought a teapot and took it home.

D. Later that day, he cleaned the teapot till it shone like the sun.
Ans x 1. CABD

2. CDAB

v
x 3. BCDA
x

4. ABDC

Question ID : 8161612636
Status : Answered
Chosen Option :2

Q.14 Select the option that will improve the underlined part of the sentence. In case no improvement is
needed, select ‘No improvement’.

Finally, Ananya found her pet kitten over the top branch of a tree in their garden.

Ans x 1. No improvement
x 2.in a top branch of a tree
x 3. across the top branch in the tree

4. on the top branch of the tree

Question ID : 8161612651
Status : Answered
Chosen Option : 4

Q.15 Select the correctly spelt word.
Ans x 1. Transishion
2. Injecshun

3. Intention

X € X

4. Fassion

Question ID : 8161612656
Status : Answered
Chosen Option :3

Q.16 Identify the segment in the given sentence which contains the grammatical error.
| don’t recognise none of the politicians who have been invited to be the speakers today. Ans
J 1. I don’t recognise none of
x 2. invited to be
x 3. the politicians who have been

x 4. the speakers today

Question ID : 8161612648
Status : Answered
Chosen Option : 1




Q.17 Select the most appropriate synonym of the given word.
FOLIAGE
Ans x 1. Firmness

2. Greenery

v
x 3. Urgency
x

4. Foolishness
Question ID : 8161612638

Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate meaning of the underlined idiom in the given sentence.
It took Rohan a long time to get the hang of the machine in the new factory.

Ans X 1. Put up safely

2. Learn how to use

v
x 3. Clean and dry
X

4. Bring someone to run
Question ID : 8161612654

Status : Answered
Chosen Option :2

Q.19 Select the most appropriate synonym of the given word.
CONSTRAINT
Ans 1. Control

2. Hazard

3. Concern

X X X &

4. Burden
Question ID : 8161612660

Status : Answered
Chosen Option : 1

Q.20 Select the option that is the passive form of the given sentence.

She did not forget me even though | have been away for a year.

Ans x 1. Even though | have been away for a year she had not been forgotten.

x 2. Though I have been away for a year she has not forgot me.

J 3. | have not been forgotten even though | have been away for a year.

x 4. Even though | have been away for a year she did not forget me.
Question ID : 8161612646

Status : Marked For Review
Chosen Option : 4




Q.21 Select the most appropriate option to fill in the blank in the given sentence.

Timers at traffic signals, that help motorists save fuel by switching off their engines while waiting, will
soon be phased out due to technical

Ans , 1. glitches
2. streamers

3. symbols

X X X

4. illuminations

Question ID : 8161612661
Status : Answered
Chosen Option : 1

Q.22 Given below are four jumbled sentences. Select the option that gives their correct order.

A. “Today, respect is shown in different ways,” she said, “students have a more questioningbent of
mind.”

B. Vidya Subramaniam occupies a small but privileged place in the dance world that hasseen the
old guard giving place to the new.

C. Back in the day, respect meant not sitting on even the same level as one’s gurus but that’sno
longer true, especially for those who live in Western milieus.

D. For instance, she spoke of how the very idea of ‘respect’ has changed over time.
Ans « 1. BDCA
2. DCAB

3.DBAC

X X X

4. BCAD

Question ID : 8161612650
Status : Marked For Review
Chosen Option : 1

Q.23 Select the most appropriate ANTONYM of the given word.

DISCLOSE
Ans x 1. Disrupt

2. Conceal

3. Complete

X X«

4. Disguise

Question ID : 8161612653
Status : Answered
Chosen Option : 2




Q.24 Select the most appropriate option to fill in the blank in the given sentence.

A of small stones is called a mosaic.

x 1. Design

Ans
2. Mound

x
J 3. Pattern
x

4. Structure

Question ID : 8161612639
Status : Answered
Chosen Option : 3




Q.25 Select the most appropriate meaning of the given idiom.

Fit as a fiddle
Ans x 1. Of the right size

x 2. Singing happily
X 3. Playing a musical instrument

J 4. Healthy and strong

Question ID : 8161612655
Status : Answered
Chosen Option : 4

Section : General Intelligence

Q1 R v FyE dR et @ o § 91 7@ A gO F Fu F § 8 Fowd 7@ v & 7w
7 9t W wfRE Tt @ e R & 8, a7 AT & #i9 ava Tewy adwea &9 @ 59 FuEt
FT IFET FAVH Bl

YT

Tl w5 e B

Tl st Jae &)
frsad:

. & EE FEF

II. S s Aate R T I
IIl. Fo e sl 8

A X o e v | 311 aregERoT e §
X 2wl ey |, 11 AR e R £
v > e fasey | AR I e S g
X 4 Faer TS Il 30T FAT B

Question ID : 8161612679
Status : Answered
Chosen Option : 3

Q.2 FHiF @1 FeT U T oredl # 37 FE FH & AT ¢, o7 F7 & 7 3060 g &7 @ &
1. Dovetail

2. Domestic

3. Dominate

4. Donate

5

. Dorsal

Ans 124,35 4
X21,3,5, 4,2
:2.8, 45 1
N+ 23,415

-
-
-

Question ID : 8161612669
Status : Answered
Chosen Option :3




Q3 guEmlE, 'wifgar ¥ 3@ veR gEnd § o R e, ' g gefa #
Ans
X 1 $IEER
X 2 yafaar
v
X 2 piemofr
Question ID : 8161612673
Status : Answered
Chosen Option : 3
Q4 37 RFed & 9099 F A AW TR T 50 TH5R FE00 ¢ HF THR g@0 3eR-TE T
Ans  3ER-THE ¥ FETOT &l
KRZ : HOW : : CUX : ?
X 1 YSU
v 2 ZRU
X3 YTU
X4 ZTV
Question ID : 8161612672
Status : Answered
Chosen Option : 2
Q5 FAF 7 @ + FEat # sgow iR fofia s & agfoa & & v aftde Reat & @
Ans TS FT TTF HL
11 + 15 + 78 + 6 + 18 * 160
Jl x! +! +’ -! =
x2+! x! -, +! =
XSX! +, -’ +! =
x4 +! x! +, _! =
Question ID : 8161612663
Status : Answered
Chosen Option : 1
Q6 37 REeT & T FY FwH wedl F 9 T FEY §, S Y QU A0 weg-geA & @ F A7 g
Ans

% s

X 1 =g ; Fihr

X 2. egT ;. AraraTg
v 5 greEieT - AET
X o faoar | TR

Question ID : 8161612676
Status : Answered
Chosen Option : 3




Q.7 37 faweT & 907 H owH FEa 38 YR FEfa § 5w YR RU v gEeew # g et
Ans |

(789, 501, 645)

X 1 (701, 538, 600)
X 2. (645, 705, 573)
v = (455, 573, 514)
X 4. (224, 640, 330)

Question ID : 8161612665
Status : Not Answered
Chosen Option : --

Q.8 Ir TEur-giA few v §, e @ &9 el ver wod € 3R e wwed €1 3@ e weE-geA &
Ans  TIH H

vl 142
X214 : 210
X322 : 506
X 417 : 306

Question ID : 8161612668
Status : Answered
Chosen Option : 1




9 3@ feeT-3pla # TTT FY S & T Al X F AR
(AT Fr Al 7 R)

XX
PON

Figure X

Question ID : 8161612683
Status : Answered
Chosen Option : 4




37 fwed &1 Taw H owd FEa 3@ TR w6t § 5w veR R v wema § sew w6

g
Q.10 (13, 17, 442)

X 1 (15, 14, 415)
X2 (11, 19, 628)
X3 (17, 21, 367)
v« (18, 15, 540)

Ans

Question ID : 8161612666
Status : Answered
Chosen Option : 4

Qa1 T 29 =l 2003 F guA &, & 26 W&l 2005 F FAE FoFT W e g

X 1. YshaR

X2 FEr
X 3 TXEAR

=2

v o afaEr

Ans

Question ID : 8161612662
Status : Marked For Review
Chosen Option :3

Q.12 Four words have been given, out of which three are alike in some manner and one is different. Select the odd one. Ans

/< 1. Spoon
X Knife,
X Fork
o 2. Spade

Question ID : 8161612678
Status : Answered
Chosen Option : 1




Q.13 37 fawed-3Tpia &1 =TT HY S A & TS AHiA-SEen F T2 [ (?) F T W 37 T g

o sl @
+ +
e ¢

-9

Ans

Question ID : 8161612681

Status : Marked For Review

Chosen Option : 2

v e gz amer & 'BEAUTY' & 'ZUVBFC' & & & forar sram g1 33 % s & 'MARTYR' &t
Q.14 ¥ o srer?

a1 TXURBN
X 2 SYUSDM

v = SZUSBN
X 4. SZUQDN

Question ID : 8161612670

Status : Answered

Chosen Option :3




3 TEIT #7994 H¢ S AEAtai@a Aot F g fEa (?) F TS 9 M gEar

Q.5 65, 70, 80, 95, 115, 2, 170

Ans

<1130
X 2165

v 3140
X 2. 145

Question ID : 8161612667

Status : Answered

Chosen Option :3




3 HER F 99T F A ReAton@d Soft F geF REa (?) F TH WA T g
a1 K BN, D, Q F, T, H?
X1J
XZ.K
Xs.v
Vi W

Ans

Question ID : 8161612674
Status : Answered
Chosen Option : 4

30 fwed # 994 F S I T ¥ 3@ R w6 § S g gl wer wwel e @
FEfOT ¢ 3R o8 g 9i=dE §=ar ¥ geied 2

Q17 8:81::12:2::11: 144

X 1144

v 2 169

X3 196

X 4. 256

Ans

Question ID : 8161612664
Status : Answered
Chosen Option :2

TR R-TAE U aw §, Owd & I fRlr R @ § R v 3R &1 39 e HeR-TAg
Q_1gil1r-raﬁ'l

as 1 NTZ
v 2 BGQ

X 3 FLR
X 4 LRX

Question ID : 8161612677
Status : Answered
Chosen Option :2




Q.19 manéa@ﬁﬁﬁwma#msﬁwwaﬁrgégvmaﬁmwéwaﬁwm%l
e apiaral & ¥ wAA Y B G T TS R Fg e Har g e

= e
.I 1

)

&

Q= <1 (O =0 |[dE <t | a0
> =) O =0 |0<a =0 |10 <0 L

Question ID : 8161612684

Status : Answered

Chosen Option : 1




Q.20

Ans

A+Bawr 3y g A BFard;

A-B & 3T E A B T ¢

AxB @ HTE A BH T
A+Ba& HT g A BF fRar &
IRFK+U-TxR+Mg AKF MY T T§y 82
X 1 ooy

X a7

X s w8

v g7t

Question ID : 8161612675
Status : Answered
Chosen Option :4

Q.21

Ans

g s 3 o P 2

hd

X111
X215
X3 14
v 13

Question ID : 8161612682
Status : Marked For Review
Chosen Option : 4

Q.22

Ans

w fARaa % o &, 'REQUIRE' & '100' & & # Feag fohar Siam g1 38T &9 # 'ARRANGE' &1
e 7 Fea= frar sem?

X177
v 71
X 3 68
X 2 88

Question ID : 8161612671
Status : Answered
Chosen Option :2




Q.23

Ans

TH ZIUT A & TS P F I HT W AN W & T 3PS F TE GH0T B T TAT Y

=
<« G64

r—]—
““[ra 0 «
, ==
|ho O D>
===
(ra 0D
==
[raoD>

Question ID : 8161612685
Status : Answered
Chosen Option :2

Q.24

Ans

& 75 ofiT T HZH TH U TAMT A §| TH FFR §AC ¢ O & Fae@a § @ ST @

-7 | st T gem?
[197]
al3]1]2]

X113k 6
X226 33
X313ks5
vi2 3Rk 3

Question ID : 8161612680
Status : Answered
Chosen Option : 4




Q.25 R a1v 37 M@ #, A e ‘afss FH F g@iar , P Rand #1 g ¢ ik e
TREET # g €, O e sRaw aftss she % € S Rar 98 £

Ans - X161
X212
X3 25
v 36

Question ID : 8161612686
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude(Basic Arithmetic Skill)

Q.1 34,000 F TR 5% TF e X | @ a€ & € & 51 § 3R a7 Hr 7oer oA THE &
HTUR 9T # A §1 5@ FHRE 32,000 Fr 0l 40% a1 st @7 W vF A€ F e & s § ek
TS F AU IAEF THGE F AR W B A F| FA Tod ST ST grem

ans X 1. %1,444.40
V2 %1,130.70
X 3.31,333.30

X 4. 31,888.80

Question ID : 8161612695
Status : Not Answered
Chosen Option : --

Q2 v =fea At 3uF Rar #3173 4:5 8 AR 3w @fed @k 5w g3 &g
I 6 1 1§l TN A Tgd ¥ e FAA 11 : 14 AR 11 0 1 ) & 39§ 12 I a1@ A
AR e Y F IS FAT GEM?

ans X114 : 3
v:18:5
X:18:7
X412:5

Question ID : 8161612694
Status : Not Answered

Chosen Option : --




Q.3
Ans

IR TH T F TAF PR A 10% H g $r F0T, O 355 THT &6 # fhaa gfaea Fr gy
)

X 1 22%
X2 19%
vz 21%
X 2 20%

Question ID : 8161612692
Status : Answered
Chosen Option : 3

Q4 T H 3R O % &= % gff D 591 B1 v =ufFd H & O &1 gft, ve gfafvaa w7 & sitwa S
Ans  THE T T T TF AT g1 PR Ig AT 60 km/h F T T T § o 9 AT T 20 B
ST THT T §, AR R FE 75 kmth T I F Toram § A 98 THRT ¥ 44 BAe 9w g a7
FT oar g1 D 3 S & ifes At @ anT = 2
X 1 376
X 2 358
X3 344
v . 384
Question ID : 8161612688
Status : Not Answered
Chosen Option : --
Q5 feafaf@a am% 9= T A, B, C, D 3R E & v 3R afgemit & sewew (wR &) &
Ans

gerar 21

= oY » Afgar

35
30
35

@
~

TH I & AR R 96 wE F wAeg Afenst S gwar o7 vt & gest & gEmw 7@
T foer e &2

X 1 99%
X 2 94%
X 3. 95%
v 97%

Question ID : 8161612709
Status : Answered
Chosen Option : 1




Q.6 3R e IF F (IFA AT F IAR A& 8), LACB =135 ¢ IR Iea F B 2VZem

Ans & St Sfrar AB @ TS T #2

D

B A
C

v i 4cm
X2 3\/§cm

X 3. 4\/§cm
X 2 6cm

Question ID : 8161612697
Status : Answered
Chosen Option : 1

Ans

X 16
X224
X3 8
Va5

27 uﬁx4+$=%%,a’rf—3[xu%]mmmaﬁ, @l x > 0%
X

Question ID : 8161612702
Status : Answered
Chosen Option : 4

X142
X 2 50
v 45
X 2 40

Question ID : 8161612704
Status : Answered
Chosen Option : 3

Q.9 (1+sin®—cosB) = (1+sinB+cosB)

Ans

30°
60° ,
90° ;.
459,

X X X € 3

(1+sinB+cosB)  (1+sinb—cosB)

=4 ¥ o =fa & 9 #i9 @ 77 6 F T @@ @eme

Question ID : 8161612707
Status : Not Answered
Chosen Option : --




_ (0.1)% +(0.2)* +(0.3)% +3(0.005 + 0.016 + 0.027) + 0.036 A
e A= (0.1)2 +(0.2)2 + (0.3)2 + 0.04 + 0.06 + 0.12 %’ ar 60A e AT !

Q.10
s A< 160
X230
X320

v 36

Question ID : 8161612701
Status : Not Answered
Chosen Option : --

Tg WME AT 1 F A5 5 TF F Fo et (5% Ay Tsfrat qomt #) & dww g 2

=T = wfear

GRADE1 GRADE? GRADE3 GRADE4 GRADES

3R A F AR AE 3E FET A Te AT For ReAtIa H wEwr F o Regredt S sfaed
ey #r gafar 2

$H AT &% IMUR W 3R D Rggew & @5% ik asfErat &1 sgue 3:1 § & D ez # 9o
Q_llmﬁasﬁihmm%?

e X 128750

X 2. 25550
X 3. 22450
v 2 26250
Question ID : 8161612711
Status : Not Answered
Chosen Option : --
TEATT 24, 45, a, 35, 59, 83, 46, b, 29, 74 FAGER $H THR cHareyd H 7 § F I v A

# et & I 9% Ed # THST A TEAT S ot & ar AT 78 d@=w v sthwa 55 @ar
21 ar 3T et (a 3R b) FT ET F@AT Eeme?

Q.12

ans 138
v 2. 50
X3 62
X 4. 58

Question ID : 8161612690
Status : Not Answered
Chosen Option : --




T AfFT HOE 40 TEGH W AR Hew ¥ 20% Sferd wfoE Few MfHa war #1 T 3ifea
T § 10% Fe R 10 a&gat, 3R 15% & ge W 20 a&gat & a9ar §1 & o 3en 39 ==feq
F FT A T FA @ A IF T g5 arge W HOFan frae () ge o derR #

Q.13 w7

ane K1 21%
X 2 28%
v 26%
X 2 25%

Question ID : 8161612691
Status : Not Answered
Chosen Option : --

e et & (3P FT F HFAR AET 2), ST AB $H TR T S § T 3w g Fw
O W faffa ®ror, Shar CD Zarr fafda ivr &1 g gar & 3k #or ZAEB= 22408 &, &
YT £COD F &Y e

Question ID : 8161612696
Status : Not Answered
Chosen Option : --

AT F TF HPR 2236 FfF e H X F FUE W 50 M A F IR wATH 22100 FT w1
FAAT ATEAT g1 $EF T g AT H T MR Awo do Herr § wE F7 7T 7180 Wiy AT ¥
15ﬁrags@?zsoqﬁﬁmaﬁra?wmmmﬁvwﬁmﬁmmmﬁrmmavﬁ?

v 120 T
X 2 22 drex
X316 eI
X218 T

Q

Ans

Question ID : 8161612693
Status : Not Answered
Chosen Option : --




Qmmmsgaub,ss@fam%a‘rﬁb F 3FaH AT gremi

Ans

v 14
X216
X312
X210

Question ID : 8161612703
Status : Answered
Chosen Option : 1




7T 3per F (3MHT AT F AR FAET §) 3R 2DAB+ £CBA = 90° &, BC =AD, AB=20 cm,
CD=10cm g & Tgs ABCD T &iawhel FaT grem?

D

Q7

Ans V1 75 cm?
X 2150 cm?
#3100 cm?
X 4120 em?

Question ID : 8161612699
Status : Not Answered

Chosen Option : --

FAfaf@d 9% =€ 2013 @ 2019 TF TH FUT g FC ¢ - H @ F
Eccicitoiaic i

" 2013
w2014
w2015
2016
2017
" 2018
m2019

3P 2016 # 3mara 2250 fAfdme 3k 2016 3k 2017 = fem o e 2500 fAfew=
g3 ar 2017 & faraar amara gam?
Q18

v 1 3420 RREE
X 2 3620 AT

X 3. 3520 AT
X 4 3320 A=

Ans

Question ID : 8161612710
Status : Answered
Chosen Option : 1

Q19 ¥R a+b=8 AR a+a?h+b+ab?> =128 T ar a®+b® T UACHS HIT FAT grem?
X 1224
<2 96
X 344
v . 152

Ans

Question ID : 8161612700
Status : Answered
Chosen Option : 4




T e @ R O F 5@ e gAase fFar an ¥ & 97 9 & @t Gt @ Tael aar ¥l 3R
o AR Mer F A F A '8 § 3R S g 9 F O & & Hgad b’ g, af ab @
Q.20 mmw

X1
Ans 36
36
X 2. =
v 1,
X 4,
Question ID : 8161612689
Status : Not Answered
Chosen Option : --
V11 Cosec?A+Tan?A
Qa1 SecA =78 M oaicera P AW WG AT
X1 2
Ans 4
X 2 1
11
11
N
9
-
Xa =
9

Question ID : 8161612705
Status : Answered
Chosen Option :3

A Rl FF F v ARET A F 0 AT § B B AT T § 5@ FE A QA A F 45% ST
&7 wera §1 ai= Wy Ao 58 T 9 38 F # AT § AR AV F H B 3w 29 foe A
5y FX VA B IR A b FE FY A T 30 FE b Refl A @ W wwam?

v 118 &=
X 2120 &=
Xz 98 f&a
X110 &=

Q

Ans

Question ID : 8161612687
Status : Not Answered
Chosen Option : --




az FN CosA,SinA, CotA T[uiieak AU # § & Tan®A—Tan’A & A &7 gem|

Ans , 1 1.
x

X s.

X 4

Wl N = W
N

Question ID : 8161612706
Status : Answered
Chosen Option : 1

we fefs 1 ST 25, 39, 34 $HIS §1 IR T F 4GS 56 T F TG F 21 7 O § A

e

e K125 TS
v 21 sFIE
X3 22 sFTS
X 2 18 SFTS

Question ID : 8161612698
Status : Answered
Chosen Option : 2

T IE-Teel HUAT TAeX, UL, et 9T, Ter AR T FPeaw AW wiw fafdew 3ot # @A Fr #
el s-ams & 2018 3 2019 ¥ e scufea s arat 3curer & Ry (Fewr o da )
fe@rs 71

2018 = 2019

48.17

— 29.14

I 5.01
W 10.19

. 12.21

@
2
~

g I 20.15
5.93
I 37.16
I 14.97

T W g Eicfic=cod

25wqm;mwmmﬁﬁaﬁrﬁzms%gmaﬁzow#ss%#rq%gé?

v . gaf
X 2. grer BEHT
X 3. =T

X 4 grer gRYeT

Q

Ans

Question ID : 8161612708
Status : Answered
Chosen Option : 1

Section : General Awareness




Q1 Ferg iR 7 U1EAIEs < o & NS FHasi Rraeies < a4 gt g?
Ans ,1 —

xz.tn'ir

xs.a-g

x4.?’ﬁ?r

Question ID : 8161612722
Status : Not Answered
Chosen Option : --

Q2 g (FICCI) § 3IT9TH 7AT1SH 2019 H FW ' AT NEHIH 3016 & ST A T AT T IAT?

Ans Xl.vﬁaTcmm
"z.wﬁma
X s atraim

x 4.9 @y

Question ID : 8161612736
Status : Not Answered
Chosen Option : --

Q.3 Microsoft Office (ATS oY|T T 3T BH) AT FATF (function key) © -:Z,i-\ElgT (Print Preview window) &
T Il 82

Ans
« 1. Ctrl + F2

2.Alt+F2

x
x 3. Shift + F2
x

4. Alt + Ctrl + F2

Question ID : 8161612712
Status : Not Answered
Chosen Option : --

Q4 qg # R & HAT FeT- et §2 A ST §?
Ans xl.ma?amaﬁtmﬂam
xz.iﬁﬂ,ﬁqmaﬁﬁi\tm
x3,ﬂpﬂ3~ﬁT3~]‘W‘lTHH’lﬂ'

"4.W3ﬁ?aﬁ~n’q‘ﬁr

Question ID : 8161612724
Status : Marked For Review
Chosen Option : 4

Q5 Fgav2016 A SR HT AT FH HRAT A & NS FHITerAqTT T T &2




Ans

1.%200

2.%500

3.%2,000

XXX

4.%100

Question ID : 8161612719
Status : Answered
Chosen Option : 3




Q6 R T I T TIT 2019' & AR, FH AT AT ATA S HFT T FTAA & T TgelT ATl
Fam

Ans xl.aﬁ?:%rr
xz.zﬁ're‘&r

¢3.5h_trﬂE_GF

x4.ﬂzr€%r

Question ID : 8161612717
Status : Answered
Chosen Option :2

Q7 FATTAH A FI-AT TR & TG T BICH FR HT 36T 82

A
K 1. TG 6T € ATelre @l
xz.w&@(wa@)w
Ja.ﬁéq‘r(ifg)ma@'@%
X 4. 2 5 (eTel) areTHdr
Question ID : 8161612725
Status : Answered
Chosen Option :3
Q8 e & FISTAT AT RT FAoA F §-STea1g > (ACZ) FY 3 87T AFATIATE?

Ans x 1.30
J 2.15
x 3.10
x 4.20

Question ID : 8161612726
Status : Not Answered
Chosen Option : --

Q.9 1829 7, W & W IAAT STeITel o Hcll AT 1 YT °Y el HIA T I TAT T HT gAT?

sty /PR —
"z.aﬁamaw

x3.afggagﬂ‘sﬁ
X st

Question ID : 8161612729
Status : Answered
Chosen Option :2




Q.10 1930 3 ATAT ABO T HHE UITell T JUTT Flet & AT, FH & o o7 HY Aol [ FR A F AT AT
FIT AT AT?

Ans Jl.mﬂ?éﬂ?

X, sterars
x 3.3 dC i3S

x4.ﬁm?§ﬁm

Question ID : 8161612723
Status : Answered
Chosen Option : 1




Q.11 9 T T FIT-HT & ST H el 7, STET SAATAR FT Teh YOT & el YIAT I1AT AT?

Ans Jl.w,m

xz.s’rwaﬁ,wﬂ?
xa.:ﬂﬁ e, T IS

x4.ga?ﬂrr,ﬂu32r

Question ID : 8161612727
Status : Not Answered
Chosen Option : --

Q.12 2019 H, FH Y@ HRAT F T FI1'§ T M T Salel e ORT 'HRA ARG R FR F F AT oIk FAT AT
ar

ans X 1. GlTeT a1 T
"z.aﬁwé‘q’

x3.¥|'i|?|'<_-f<_ﬁh_{

x 4.37Tds

Question ID : 8161612735
Status : Answered
Chosen Option : 1

QI3 TT T T FUT HH T T HTE?

“3aAt Ugell S & a1 Foft IRTA AT & AT, T & T H1SF I 3791 T B Ta Igol & g 37
& AT A Fgel & AT IR 3 § F el S Ao 0T T & a1 AV (Don't take rest after your first

victory because if you fail in second, more lips are waiting to say that your first victory was just
luck)?”

Ans Jl.U.CfT.@f.}T CETie

xz.amu@?r
xs.a’rsﬁaﬂaﬂ
x4.3~127~rag1’$ra13|ﬁ'zfr

Question ID : 8161612731
Status : Answered
Chosen Option : 1

Q.14 TR 7 'T63T AR 37 TH T& FHGT FHATR) AGHY (BAMCEF)' & A9 % § o

Ans x 1.1979

2.1980

x
J 3.1978
x

4.1982

Question ID : 8161612733
Status : Not Answered
Chosen Option : --




Q15T RT ARAFFATTIFTHE IRAIFEA T JTE?

Ans x1.3~fr?:%rr
xz.aﬂaT

xa.HUTgT

v o s

Question ID : 8161612714
Status : Not Answered
Chosen Option : --

Q.16 JavaScript (SITaT ) Y T FIT ST 7 a9 TeleT (37 T ) 7 3;E?
Ans x 1.1999

2.1990

x
J 3.1995
x

4.2000
Question ID : 8161612713

Status : Not Answered
Chosen Option : --

Q.17 HEE 2019 A, AT T GA H A FH F Toll HY HER o 1 o1 GAT IAT? Ans
X 1. Steel Authority of India limited (R & T T YT o FL3S)

x 2. Bharat Petroleum Corporation Limited (TR & <Y oI Shiq 32T of HALS)
J 3. Hindustan Petroleum Corporation Limited (& aﬁrﬁaz?rmﬁq@mam)

x 4. GAIL (India) Limited (3TeT (& 33T) of ACS)

Question ID : 8161612720
Status : Answered
Chosen Option :3

Q.18 $RA-HeT & AT g aTH Y T 7 2 OT 37 I & 89 | HIUT '§5-31-85 2019', T AT HH

AT H ST IAT AT?

ans X 1L AR
2

‘lz.ﬁ’awcr

 (p—

x4.é?1?~r

Question ID : 8161612716
Status : Answered
Chosen Option :2




Q.19 ‘HERTST OTSNT W M FT AT A Y F Gl A T T &2
Ans x1.a?'c'

"2.31%

xa.tﬂaﬁ

P p——.

Question ID : 8161612734
Status : Not Answered
Chosen Option : --




Q.20 27 FAGER, 2019 FT PSLV C-47 <RI & Id FHIE YE-3 (Cartosat-3) 3T & & LU FT Sl deTehTel el &2

Ans xl.Za'q'
2.5a9

3.399

X X §

4.43Y

Chos

Question ID : 8161612718

Status : Not Answered
en Option : --

Q.21 9RA | Ygell IR § TUTA THT & oA1d Fa TA?

Ans 1.1949
2.1947

3.1948

<X X X

4.1946

Question ID : 8161612732

Status : Answered

Chosen Option : 4

Q.22 AT 2018 T, UNESCO (A 1) <:RT STRY ATTGAT & 3T AT F ok aHd & o o & T 7 ARA &
el Held 9 PY o1978 § 915 4P

Ans 1.14

2.15

QXXX

&
-
w

Q.23 9 SIeT-9T T\ ATHSF AT, S ‘37900 ¥l (Victor of the Ganges) F ATH & T &?
L ——

xz.aamma’lar

Xa.wsmznaam

x4.aT3Trauznr~r

Question ID : 8161612715
Status : Not Answered

Chosen Option : --

Question ID : 8161612728
Status : Answered

Chosen Option : 1




Q24 AT T A A A FH ARAT TGS/ TH B @ AT AR ATE T R FR 2019' § F AT A HITIAT?
Ans x1.3~r-::3-?:r:-rﬁ'a
xz.rmi'r:gm
xa. qAT T

J4.TI'°TTW1?—|T

Question ID : 8161612730
Status : Answered
Chosen Option : 4




Q25 gaer (HeS)arwmmg #T31er §7?
Ans X 1. gz

v

X 3o Tt T

X 4 g

Question ID : 8161612721
Status : Answered
Chosen Option : 2




